CCNA3 Module 2

Part I

1. What are two main classes of IGP?

2. How do the two types of routing protocols find routes?

3. What is SPF?

4. How does a link-state routing algorithm maintain topology information?

5. How does a distance vector algorithm maintain topology information?

6. Name some of the distance vector routing protocols that are in use today.

7. Why is bandwidth usage for distance vector routing protocol high and network convergence is slow?

8. How is link-state routing protocol different distance vector protocol?

9. OSPF is based on open standards. What do open standards mean?

10. What is OSPF? 

11. How do link-state routing protocols route date?

12. What are some link-state routing protocol functions?

13. What features do the routers that use link-state routing protocols have?

14. How do distance vector protocols exchange routing updates?

15. How do link-state routing protocols exchange routing information?

16. When a failure occurs in the network, such as a neighbor becomes unreachable, what do link-state protocols do?

17. What does a link mean?

18. What does the state of the link mean?

19. What is a topological database?

20. What is LSA?

21. What characteristics do link-state routing algorithms have?

22. How is SPF algorithm used?

23. How is LSA exchanged and what is the advantage?

24. In figure 1 and 2, when the routes have equal costs, which route do the routers record?

25. What are the advantages and disadvantages of link-state? (You don’t have to use the complete sentences.)
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26. Compare the link-state and distance vector: (try to use your own words)

Part II

27. What does OSPF stand for and advantages?

28. What is area 0 called?

29. Area definition reduces ______________, speeds up _______________, confines _________________ to an area, and improves _________. 

30. OSPF terminology (see the figures)

31. What is a link?

32. What is a link-state?

33. What is link-state database (topological database)?

34. What is an area?

35. What is a cost?

36. What is a routing table?

37. What is adjacency database?

38. What is a DR and a BDR?

39. Compare OSPF with distance vector protocols such as RIP.

	OSPF Link-state
	Distance vector protocol such as RIP

	Maintain 
	

	Exchange 
	

	Not broadcast
	broadcast

	Use 
	

	Appropriate for 
	Appropriate for 

	Best path is based on
	Best bath is based on 

	Selects routes based on 
	

	Selects the fastest loop-free path
	

	Guarantees loop-free routing
	May cause routing loops

	Supports 
	

	
	


40. What issues does OSPF addresses?

41. Do exercises on page 2.2.3

42. What is the best path based on the shortest-path algorithm also known as Dijkstra’s algorithm?

43. What is the shortest path from B to F and what is the cost?

44. How do OSPF routers determine which routers to become adjacent to?

45. What are the three types of networks that OSPF interfaces automatically recognize?

46. What is DR and what are the tasks of DR?

47. What is the multicast address for all OSPF routers?

48. What is the multicast address for all designated routers?

49. What are the responsibilities of BDR?

50. Do the exercise on Page 2.2.5

51. When a router states an OSPF routing process on an interface, what does it send?

52. What is Hello protocol?

53. How often are Hellos are send by default on broadcast multi-access and point-to-point networks?

54. How often are Hellos are sent by default on interfaces that connect to NBMA networks, such as Frame Relay?

55. What does the hello packet consist of?

56. Do the exercises on page 2.2.6.

57. Who elects a designated router(DR) and a backup designated router (BDR)?

58. What information does Hello carry?

59. What does each router that receives an LSA from its neighbor do?

60. When the databases are complete, what does each router do?

61. How best route is selected?

62. When there is a change in a link-state, what do routers do?

